TR LMl o cngiendn o
mj ; Phép cong Ién dén 1000 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
369 +240 = 937 + 877 =
775+ 653 = 686 +241 =
16 + 600 = 427 +363 =
812 + 604 = 2+77=
354 +32= 867 + 995 =
733 +25 = 399 +202 =
161 + 728 = 581 +923 =
468 + 378 = 54 +24 =
186 +392 = 731 +112 =
882 + 525 = 439 + 68 =
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Phép cong 1én dén 1000 (hang ngang)

369 + 240 = 609

775 + 653 = 1428

16 +600 = 616

812+ 604 = 1416

354 + 32 = 386

733 +25 =758

161 + 728 = 889

468 + 378 = 846

186 +392 = 578

882 + 525 = 1407

Ngay thang: Piém:

937+ 877 = 1814

686 + 241 = 927

427 +363 =790

2+77="9

867 + 995 = 1862

399 + 202 = 601

581 +923 = 1504

54+24 =78

731+ 112 = 843

439 + 68 = 507
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